Problem Solving Test Prep

George has 2 gallons of punch.
He wants to fill 4 pitchers.

Each pitcher holds | quart.
There are 4 quartsin | gallon.
How much punch will he

have left?

(A) | gallon
3 quarts

(©) 2 quarts

(D) 5 quarts

2. Brooke uses square files

to make this pattern.

]| | |

How many tiles does she need
for the next figure?

A Il © 16
(®) 15 (D) 21

'
8. Show What You Know

3. Joey uses 5 inches of string

256 two hundred fifty-six CCLVI

to make a bookmark.
He makes 6 bookmarks.
How many inches does
he use?

inches

Explain.

128 + 128

. Madison has some dimes and

pennies. She has 47¢.
How many dimes and pennies
could she have?

dimes

pennies

Explain.
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